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COOCH BEHAR PANCHANAN BARMA UNIVERSITY
B.Com. Honours Part-111 Examinations, 2018

BUSINESS ECONOMICS AND QUANTITATIVE TECHNIQUE-HONOURS

3HI1
UNpER-{1+1+1) SYSTEM
Time Alloited: 4 Hours Full Marks: 100

The figures In the margin indicate full marks.
Candidates are required to give their answers in their pwn words as far as practicable.

GROUP-A
Answer any four questions from the following 1524 = &l
1. (&) What do vou mean by returnis o scale? JH448

(h) Show that MR = AR [1—1\].
£

(c) “The long run-marginal cost curve ¢an be derived from the shorl run
marginal cost curves™— Explain,

2, {a) What is the basic difference of monopoly and be-lateral monopoly? 34844
(b} How does a kinked demand curve explain price ngidity in oligopoly market?
{c) What are the characteristics of monopaly?

3. {a) Discuss the assumptions of a lincar programming maoded. 5%10

(b} A manufacturer produces two types of Machine A and B, the profit per
bottle of A and B being Rs. 7 and Rs. ¥ respectively. Both A and B require
two chemicals X and Y. Each bottle of A requires 1 litre of X and 4 litre of
Y whereas cach bottle of B requires 2 litre of X and 3 litre of Y. The txal
supply of X and ¥ are 6 litre and 12 litre respectively. How many bottles of
A and B will the firm produce o maximize its profit? (solution reguired).

4, {a) If the production fumction s Q = 5L"* K", then show that AP; and MP, 5+5+5
both are diminishing.

(b} Prove that for Cobb-Douglas production function, elasticity of substitation is
unity.

{c} 1f the cost function is C = F + 2Q — bQ™ + 40", then show that marginal cost
reaches minimum hefore average variable cost.
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5. (a) Distinguish between game theory and decision theory. I+ 2+10)
{b) What are Mixed Strategies? Solve the following game applying mixed
sirategies:
Player—B
B, B,

Pi ,ﬁ,AISl
™S ¢ 2

6, {a) Distinguish between economic growth and development. 5+10

(b} Can India be termed as an underdeveloped country? In this regard, point out
the barriers faced by the underdeveloped countries in the process of their
economic development.

7. (a) What is business cycle? 2+H4+9
(b} Bricfly discuss various phase of a business cycle.

(c) Explain the monetary and fiscal measures for controlling eyclical
Muctuations.

8. {a) Distinguish between demand-pull inflation and cost-push inflation. 3248
(h) Distinguish between risk and uncertainty.
{c) Solve the following decision problem applying Hurwicz-a criterion,
States of Mature
N, N; N,
g3 =31
Strategies S,|-6 5 4
56 -3 2

Assume the co-eiTicient of optimism, Le. o is 0.6

GROUP-B

0 Answer any four questions from the following: S5=4=20

(n) What are the statistical methods of demand forecasting: Explain any one of
them,

-
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(b} Solve the following, applving the rule of dommated rows and columns.

Plaver—B
B, B, B, B, B,
AT 3 4 9 &
Sk T = Sk B
J A8 T 9 B 7
AJ4 T B 5 3

{€) Write a short note on “labour intensive” and “capital intensive” technique.
{d) Distinguish between individual and aggregate demands.
{e) “A firm in a perfectly competitive market is a price waker”. —~ Explain.
{f} Cost function of a firm is given below:
C=20"-240 + T2Q
Find the level of output, where MC and AC are minimum. At what level,
MC = ACT
{g) Demand function of a commodity is P = 500 - 0.2x and the cost function is

C = 25 + 10000 (P = price, x = ouput, C = Cost). For what value of x is
profit maximum? What will then be the price?

{h) Write a short note on LG model of cconomic planning.

GROUP-C

10.  Answer any fen guestions from the following: 2xll =20
(@) When does price elasticity beoome positive”
{b) What is the shape of LAC under modem cost theory?
{¢) Define long run. Does it mean a defined time limit?
(d) Can MP be zcro?
{e) When is a game called strictly determinable”
(F) Defing economic profit.
(g) What do you mean by degree of monopaly power?
{h) Define social overhead cost.
{i} What is depression?
(j} What is feasible region?
(k) What is Engel Curve?
(1} What is barometric price leadership?
(m} What is fiscal policy?
{n) Whal is Saddle poim?
fo) Wt do vou mean by Shut down point?

0GR 1
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COOCH BEHAR PANCHANAN BARMA UNIVERSITY

B.Com. Honours Part-11I Examinationz, 2018

MANAGEMENT ACCOUNTING-HONOURS

3H1

UspER-{1+141) SYSTEM
Time Allotied: 4 Howrs Fuall Marks: 100

The flgures in the margin indicate full marks,
Comdichates are required to give their answers in their own words as for as practicable.

GROUP-A
Answer any four questions from the tollowing 15=4 =60
1. (a) “Management Accounting aims af providing financial results of business to G
the management for taking decisions.” — Explain,
(b) Discuss the limitations of Management Accounting. f

2. {a) What do vou mean by ratio analysis?

(b} From the following information, prepare 8 summarized Balance Sheet in the 12
Books of Jain Co. Lid. as on 31.03.2017, assuming that capital is compased
of Equity Shares of Rs. 10 each.

Liquid Ratio - 1.5

Current Ratio - 2.5

Asset (fixed) Proprietorship Fund ratio — 0,75
Working Capital — Rs, 240,000

Reserve and Surplus — Rs. 1,20,000

Bank Overdraft — Rs. 40,000.

ELE T Ohver
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i From the following summarized Balance Sheet of Roy Infocom Lid. and 15
other relevant informaiion, prepare a Cash Flows Stastement for the year
31.03.2016.

Liabilities ILOAZNIE | 3032006 Assels IOAINIS | 332006
Share Capiisl ol 0L (N i, 00 | Land and A E1 5.500000

Tiuildng
Securiies 43,00k 55000 | Plam and 1.6 000 215500
Preminom i
Genersl Reserve 000 | 45000 | Sieck e #5000
Capilal Reserve - 15000 | Debioes L2 000 112200
P Assanised ™ (ke 07, 500 I Cosh 2 0 R
f%a Debermres 1, 0, (M RA000 | Prepaid Fxpenses ] LRSI
Paowion fod 35,000 A5 000 -
taxmion
Proqared 50,0400 T
Chwidiend |
Sandey Ceoditors 73000 1. 000 !
Chutsianding £.200 12800 | I
Exprmsey
KTEI00 | 1056300 LTS | 1056300
Additional Informagion:

(i} A plant costing Rs. 60,000 (W.D.V.— Rs. 45200} has been sold during
2015-16 for Rs. 30,000, Profit on sale has been wansferred 1o Capital
Reserve Account.

(i) A piece of land has been sold for Rs. 60,000 during 2015-16. The profit
on sale of such land has also been transferred o Capital Reserve
Account.

(iiil) During the year 2015-16 bonus share of Rs. 100,000 has been issued
out of General reserve,

(iv) Balance of Capital Reserve on 31.03.2016 consists of profit on sale of
plant and land only.

(v} Debentures were redeemed at a premium of 10%. Premium on
redemption has been transferred to Profit and Loss Account.

{(vi) Amount appropristed during 2015-2016
For proposed dividend — Rs, 70,000
For Taxation — Rs. 40,000,

{vii} Depreciation provided during 2015-16
On Plant and Machinery - Rs. 32,800
On Building — Rs. 22,5060,

4. (a) Distinguish between cash budpet and flexible budger 5

065
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(k) Production costs of *Bengal Flalls Lad " are

Level of sctivity
Lo T0% B0%
Outputs (in units) 1200 | 400  L60O0

Costs(in Rs.)

Direet Maerigls 24000 28000 32,000
Dirsct Laboue 7200 BAO0 9,600
Factory Overhéad 12800 13,600 14,400
Works Cost 24000 50000 56,000

A proposal o increase production o 95% level of activity is under the
consideration of management. The proposal is not expected 10 involve any
increase in fixed overheads.

Prepare a statement showing the prime cost, totnl marginal cost and total
factory cost at 95% levels of actviny.

From the following information peesented by 8 manufscturing company,
prepare 8 working capital reguirement forecast statement for the next year.
Expected monthly sales of 33,000 wnits st Rs. 10 per unit. The anlicipated
ratios of cost to selling price are:
Raw Materials $0%
Labour 30
Budgeted Overhead Rs. 20,000 per week.
Planned stock will include rmw matenals for Rs, 96,000 and 16,000
units of fimished goods. Materials will stay in process for 2 weeks.
Credit allowed 10 Debtors is 5 weeks. Credit allowed by Creditors is
| month. Lay payment of overbead is 2 weeks. Wages will be paid at
the beginning of the week following the week of work. Cash in hand
is expected to be 10% of Net Working Capital.
Asumne that production i carried on evenly throughouwt the year and
overiead sccrue similarly and a time period of 4 weeks is equivalent 1o a
munth.

fr. {a) The profit of Sunlight Lid. for the vear 2016 worked out to 10% of the

Ins

capits! cmiployed and the relevant figures were as follows :

Sales ~  Rs. 600,000
Direct Materials —  Rs. 300,000
Variable Overheads - Rs. 50,000

Direct Labours - Rs. 1.00.000
Capital Employed - Ks. 700,000

1
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The new sales manager who has joined the company recently estimates for
next year 8 profit of sbout 16% on capital emploved provided the volume of
sales is increased by 10% and selling price is increased by 4% and
simultaneously reduction in all elements of cost by 2%.

Find out by computing in detail the cost and profit for next vear. whether the
proposal of sales manager can be accepled.

(b} Distinguish between Marginal Costing and absorption costing.

7. (a) What are the limitstions of Capital Budgeting?
(b} The following information is available from the balance sheet of & company:

Equity Share Capital 20,000
equity shares of Rs. 100 each  — Rs 20,00,000

8% Debentures - Rs. 17,00,000

Reserve and Surplus - Rs, 13,00,000

The rate of wx for the company is 40% and current level of equity
dividend is 15%,

Calculate the weighted Average Cost of Capital using the sbove figures.

B (a) Explain with examples about the two most popularly known discounted cash
flow techniques of capital budgeting.

(b} What are the situations where N.P.V. and [RR gives conflicting ranking.

(¢) Insinuation of conflicting rankings which method is more reliable according
10 you and also explain the reasons behind your answer.

GROUP-B

9. Answer any four questions from the following:

{a) Sales = Rs. |,80.006

Marginal Cost — Rs. 1,060,000

Break Even Sales  — Rs. 160,000

From the above data find out the fixed cost and contribution.
(b} What are the consequences of excess and inadequate working capital?
() Wrile 4 nole on “ZBA",
(d) Write a note on Copital Gearing Ratio,
(e} From the following information compute:

{1} pav-hack perod

12

251
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(i} post-back profitability 5
(i) post-back profitsbility index.
Initial outlay - Rs, 150,000
Annual cash inflow (afier tax but before depreciation) — Rs. 45,000
Next five vears — Rs. 15,000

N.B.: Estimated life of the plast is & vears.

(f) From the following information calculate Fund from operation for the year
ending 31.03.2017.

Net Profit (31.03.2017) — Rs. 6.50,000
Profit on sale of Building - Ra. 35,500
Goodwill written-off - Bs. 15,000

(ld machinery whose book-value was Rs. 10,000 has been sold
during the year Rs. 7,500

Rs. 1,20,000 has been transferred 1o General Reserve,

Depreciation on Fumnitwre @ 25% on WDV which stood as on
31.03.2017 Rs. 620,000,

tare

(g) Distinguish between eaming per share and price camings ratio, 3

(h) What are the *key factors’ in budgeting. 5
GROUP-C

10.  Answer any fem questions from the following: 2=10=20

(a) State any two limitations of (inancial statement.
(b} Is issue of bonus share a flow of fund?

(c} State any two similarities between Management Accounting and Financial
Accounting.

(d) Write any four advantages of adequate working capital.

e} lfWrﬂhﬁMﬁﬂmﬂﬂmkmmﬂﬁmf&mim
(f) Write two approaches to calculate *Debt-Equity’ ratio.

(g) What do vou mean by the term “Net-Worth”,

(h) Define the term * Accounting Rate of Return’.

(i) Define Time Value of Money,

(i) What is operating cycle?

(k) What do you mean by *Capital Rationing'?
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(I} What do you mean by explicit cost?
{m) How docs marginal cost influence PV mtio?
{n} What is cost of retained earnings?

{0} State ai least two differences between Management Accounting and Cost
Accounting,
{p} What is angle of incidence?
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COOCH BEHAR PANCHANAN BARMA UNIVERSITY
B.Com. Hanours Part-111 Examinations, 2018
DIRECT AND INDIRECT TAXES 1N INDIA-HONOURS

3H3

UNDER={I+1+1] SYSTEM
Time Aliotted: 4 Hoars Full Marks: 100

The fisures in the margtn indicate full mavis,
Camdidaies are required to give their amywers in their awn waords ar far as procticable,

Diirect Tax
GROUP-A
Answer any fhree questions from the following 253 = 34
1. From the following particulars of income of Mrs, Malabika Roy for the i2

previous year ended 315t March, 2017, compute her taxable income for the
asscsament vear 200 7-2018:

{a) She was appointed on |5t January, 2013 in the scale of Rs 20,000-400-
30,000.

(b} Deamess allowance Rs. 6,000 p.m.

(e} City compensatory allowance — 10 % of basic pay.

(d} Lunch allowance Rs. 304 pm.

ie) Tax deducted af source Rs. 500 p.m.

(1} Own contribution to RPF-15% of basic ond DAL

(g} Her employer also contributed the same amount to the RPF.

{h} Interest credited 1o RPFi@ ] 5% - Rs. 4.500.

(i) Free supply of gas and electricity by the employer ot a cost of Rs. 1,500.
(i) Entertainment allowance Rs. 500 p.m.

(k) Professional tax paid by the emplover (o the W B, Government Rs. 1 480,

(1} Medical insurance pramitm paid by ber to General Insurance Corporation of
India by cheque Rz 14,000. He also paid Rs. 3,000 in cash towards
preventive health check-up,

im) She was provided by her emplover with o rent-free furnished house in
Kolkata, the annual value of which was Rs. 18,000 and the cost of furniture
was Rs. 24,000,

{n) She received dividend from UTI Rs. 4.000, interest on fixed deposit with a
bank Rs. 2,000 and imterest on fixved deposit with a company B 3,000,

(o) She paid Bs. 5,000 1o the Mational Deéfence Fund and deposited Rs. 5,000 1o
MWSC VI Tsxue.

W70 1 Turn ©xer
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Mr. Malakar owns three house properties in the same locality. House No. |
and 2 are used for his own residence, while house no.- 3 s ket out 10 2 tenant
for Re. 4,000 pm. The houses however, are not of equal siees. The

particulars of the houses during the vear ended 317 March were as follows:

; j"i&kuhn

Hoose MNa.l

Homse MNa. 2

Houge Mo, 3

Municipal value-

H=. 20004

Hs. 20000

K. 35,000

MumEupuTlng]d by the owner

(e

1%

T

Fire Insumnce Premium

Rs. 1.000

| Ground Rent

R, 600

Rs. 1.200
Rs. 300

Rs. 1,500

Interest on bormwed capital

Rs. 5,000

R 2,008 |

0T

It is known that interest relating to the 2nd house is on loan raised by
martgaging the second house, but the amount was utilized for the third
house.

Compute Mr. Malskars income from house property for the assessment
year 2017-18.

Following is the Profit and Loss Account of X for the year ending 31"
March, 2017. You are required to compute business income of X for the
assessment vear 2017-2018.

Frofit nnd Loss Aceount
Particulars Amaunt Particulars Amount
Ra. Rs,
To Rent 6,000 By Gross profit 70,300
To Salary 1o staff 3800 By Interest from Debtors 2,900

To Diwali Expenses 3.000 By Rent from property let 3,000

To Interest on loan 11.500 ot to the employees
To Sundry Expenses 6300 By Sundry receipts B}
To Bad debis 1,300 By Refund of Income tax | 700
To Denations |00
To Reserve for bad 15040
debis

To Entertaimment 160K

E:i.FH:‘I'!."iE&
To Loss due to 2,004

embeerlement
To Income 1ax | 2, 0000
To Net Profi 26,500

TR0 78,500

Cither information:
(i) Salary 1o staff mcledes Rs. 1,000 paid 1o son who does not atiend the
bassiness,

(i} Diwali expenses includes the cost of an ornament presented to the
daughter on the occasion of Diwali Rs. 1,000,

{iii} Interest on loan is payable to the State Bank of India. But only Ks. 6,000
was paid during the previous vear,
(iv) 6% of the bad debt s allowable.

-
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(v} Entertainment expenses includes Rs. 400 spent on a prospective
custarmer.

(vi) During the year, Rs. 5,000 was carmed from trading in illegal goods,
The amount wis not eredited to the Profit and Loss Account.

4. () List six instunces ol income that are fully exempt from income tax, 6

(b} What arc the rules relating to residential status of a Hindu Undivided &
family?

5. Discuss the provisions of the Income-tax Act relating 1o carry forward and 12

set oft of business los5es,

GROUP-B
6. Answer any fhree questions from the following: 4x3 =12
(1) Mrs, Nobody, a widow, furnishes the following particulars of her income
fior the previpus year 2016-2017.
(i} Cross salary received — Rs, 1.60,000
(i) Family pension received — K. 50,000
{iii) Income Fom agriculture — Rs. 10,000
(Land situnted in Nepal)
(iv) Interest on Government securities — Rs. 10,000
(v) Income from vacant land in Kolkata — Rs. 4,000

You are required to compute her gross total income for the assessment year
2017-2018.

(k) Write a short note on *hlock of assets”
(¢} Distinguish between tax avoidance and tax evasion,

{d) What are the duc dates for payment of advance tx by a non-corporaic
assessee and how much tax is payable in each due date?

{e) Write a note on *Specified employee”.

GROUP-C
T. Answer any six questions from the following: 2uf= |2
{a) What is the tax trearment of ‘winning from lotteries™?
{b} List four cxamples of agricultural income,
(¢} What is meant by ‘deemed to be let out property ™
(d) Define ‘Assessment Year'.

(¢) Mention any four types of investment which are eligible for deduction Lifs
&l

{f} What are short term Capital assers?

(g) Are daily allowances of MP and MLA taxable?

{h) Who is ‘non-resident’?

(i) What are diffierent heads of income under the Income-tax Act?

3070 1 | um Crer
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Indirect Tax
GROUP-D
Answer any fwe questions from the following:

8. State the provisions of the Central Sales Tax Act relating to registration of a
dealer. State the benefits available to a registered dealer under the Central
Sales Tax Act,

g Diiscuss in detail the export procedures followed by the persens in-charge of
conveyance and the exporter under the customs Act,

0. (i) What are the salient festures of VATT
(1) How is tumover of sales calculated under the West Henpal VAT Act?

1.  Define the following terms as per the Central Excise Act
(i) Wholesale dealer
{ii) Excisable goods
(ili} Manufacturer
(iv) Factory.

GROUP-E
12, Answer any fwe questions from the following:
{a) Write a short note on transfer of goods 10 a branch or on consignment basis

from one state to another state by a registered dealer under the CST Act.

(b} List the provisions relating to filing of excise duty return as laid down in
Rule 12 of the Central Excise Rules.

{c) Describe the different modes of imposing customs duty in India.
{d) Which items are included in capital goods under WB VATY?

GROUP-F
13, Answer any four questions from the following:
{a) Name four items of “declared goods”,
(b} Who collect and regain CST7
(e} What is penultimate sale?
{d) What is PLA?
(e} What is a tax invoice under the West Bengal VAT Act?

(f} ‘What is the rationale of not imposing sales tax on sale of goods in the course
of impart or expert?
(g} Who is commission agent as per the Central Excise Act?

2070 4
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COOCH BEHAR PANCHANAN BARMA UNIVERSITY
B.Com. Honours Part-111 Exominations, 2018

AUMTING-HONOURS

JH4
UNpER-[1+1+1) SYSTEM

The figures in the margin indicate fill marks,

CROUP-A
Answer any four questions from the following

What are the different types of crrors and frauds that can be found while
suditing the accounts of a concern? Discuss them with illustration, How
would you a5 an auditor detect them? Can an suditor prevent them?

What is meant by continuous audit? In which case this audit is applicable?
What are its advantages? What are the means of removing the disadvantsges
of continwous audit?

What do you mean by vouching? What are its essential features? Discuss the
imporance of vouching.

Discuss the rights and duties of an auditor of a company under the
Companies ActL.

Can a limited ¢company pay dividend to the shareholder in the following
circumstances?

{a} Out of capital.

(b) Out of current year's profit without making good post losses.
(¢} Owut of capital profit.

T

Explain the provision of Compenies Aot regarding the content of the
audditor’s report. Describe the peneral considerations which an nuditor hes (o
keep in mind while drafting his report.

Full Marks: 100

Candidates are required to give thely answers in their own words as for as praciicable.

15%4 = &0
3T

IHeHG

J+b+6

+E
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Whant do vou nwean by the term *valuation of azsets™! How doess it dilTer F+340
feon “Verilication of assets™ T Stade what should be the basis of valuation of
fixied assets, current assets and fictitious nssets?

8. Explain in brief the concept of Management Audit. Differentiate between 5+5+5
eost sudit and management audit. Give examples of some situations in
which management audit is wsed to sssess the efficiency of management.

CROUP-B

&, Answer any fowr questions from the following: §xd =20
() ::]:"r i5 the importance of Memorandum of Association for o company
it]
{b) What do you mean by special reserve? Give three examples.
{c) Distinguish between statutory audit and non-statutory audit,
{d) Write shom note on Tax sudit
(e) Distinguish between Capital Reserve and Capitalization of Reserve.
(1) Wnte short note on disclaimer of auditors opinion.
(2) Distinguish between Audit and Investigation.
(h) Distinguish between depreciation and fluctuation in value.

GROUP-C

10, Answer any fen questions form the following: 2x10=20
{a) What do you mean by compensating error?
(b) What is test checking?
(c) What s internal audit?
(d} Distinguish between Book Value and Market Value,
{e) Mention any two reason for which an auditor cannot be re-appointed.
([} When will dividend become a linbility?
() Give four examples of specific reserve.
th) Define joint audit.
{11 Mention two advantages of Periodical Audit.
(i} What is Audit Working Paper?
(k) What is Government Audit?
{1} What are the primary objectives of an audit?
(m) What 1s Capital Keserve?
(n) What is Audit Note Book?
(o) When does Tax Audit become compulsory?

[
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COOCH BEHAR PANCHANAN BARMA UNIVERSITY
B.Com. Genernl Part-111 Examinations, 2018

COST ACCOUNTING AND MANAGEMENT ACCOUNTING-GENERAL

3G

UNDER-{1+1+1) SYSTEM

Time Allotted: 3 Hours

The figures in the margin indicate full marks,
Cemndidates are required to give their answers in their own words as far as practicable.

COST ACCOUNTING

{Marks: 50)
GROUP-A
e

Answer any fwe questions from the following
s c-comn w7 erea Ten we

1. What are the special features of contract costing”? How should profit of an 4465+5
uncompleted contract be determined”? How is work-in-progress valued in

contract costing™

Full Marks: 100

15=2 =30

Contract costing-23 709 FRWeT & ¢ Uncompleted contract a3 T#mA
e Ffig 391 73 ¢ Contract costing-€ Work-in-progress #Femm s =21

ey
2 A company having two Production Depaniments and one Service Department, 15
furnishes the following particulars:
Hs.
Power T,
Lighting 800
Rent and Rates 4,000
Indirect wages 2.0
Sundres 5.000
Depreciation on Machinery 6,000
The other particulars are as follows:
Production Departments Service
1 i Department
Waorking hours (Rs,} 4,00 3,500 3,604
Direct Wages (Rs.) 3,000 2,600 3.0
Cost of Machinery (Rs.) 25,044 20,000 15,064
Horse Power of Machinery (Hr.) 50 ki) [0
Light paoinis (Mo} & 12 I
Floor Space {5q. Metre) Wi 1.200 S0

3il9
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()

ERE L

The expenses of Service Department are to be allocated between Production
Departments | and Il in the ratio of 60:40, Apportion the costs to various

departments on the most suitable basis.

Write shorl notes on any fhree rom the [ollowing:

Toieiee @-corn feaite Bem miwe Trm o

(i) ABC Analysis / ABC Firsns

(i) Cost Audit / e FEr

(i) Profit on Uncompleted Works / 5o wa ganm
{iv) Cost Plus contract / T B

{(v) Bin Card and Stores Ledger. / 79 398 &= o 7o)

Prepare o detailed cost sheet showing cost per unit from the following
particulars refating o production and sales for the wear ended

315t December, 2017;

Raw materials as on 01,01.2017
Work-in-Progress as on 01.01.2017

Finished Goods as on 01,01 2017 (8,000 units) (at cost)
Factory Overhead

Raw materials as on 31.12.2017
Work-in-progress ason 31.12.2017

Raw material purchased

Factory Wages

Administrative Chverheads

Selling Overheads

Distribution Overheads

Sale proceeds of finished goods (30,000 units)

Finished Goods as on 31.12.2017 st cost {10,000 units)

GROUP-B
ferst-

Answer any mwa questions from the following:
s c-cen §1F a0t e wet

A worker completes o job i a ceriain number of hours, The standard time
allowed for the job s [0 hours, and the hourly rate of wages 15 Re 1. The

worker eams at 50% rute of bonus of Bs. 2 under Halsey Plan.
Ascertain hus total Wages under the Rowan Premium plan.

2

Rs.

25,0040
36,000
1,44,000
144,000
45,000
54,000
200,000
2,70,000
90,000
54,000
36,000
900,000

5=3

15

sx2=14
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by Distinguish between Cost Center and Cost Unit.
wfam (o & wRETT G W e R amn
fc) What arc the special featores of Job costing?
Tt Ry W omwiey M teigem Bl
() Stare different methods of Labowr Tumaover.
1w wrng [Risy enifaaf Ty =0

GROUP-C
s«

&, Answer any five questions from the following: 2=5=10)
s - #isfe ey Tew mes

(a) What is E.0.Q7
E.0.Q % TH ¢
ib) What 15 Labour Tumover?
m A
{c} What is Linder-absorption of overhead?
Under-ahsarption of overhead 7 ¢
id) What is Stores Ledger?
T (IR S AT
(e} How do you trest factory serap?
wiata A e e (Trea) F903 ¢
(N Define Fixed Cost,
e o Ay W
(g} What is *Direct Material"”
SyET SETRE TE A
thi What do vou mean by Notional Profit?
“Notional Profit’ 908 F G

-1 F ]l'l‘ TI.I.FI'I D'l-'L'r

e
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MANAGEMENT ACCOUNTING
(Muarks: 50)
GROUP-A
faem=
Answer any twe questions from the following 152 =10
s cE o e Bem e
% From the following Balance Sheet, prepure a staternent showing changes in 410

Working Capital and also Fund Flow Statement:
Balance sheets
Liabilities e 2007 Assets 006 N7
[ [£1 Hs. Bz Rs.
Equity Shure Cagital  ML000 45,000  Land & Bididing 21,000 28,000
Shie promiom - 2000  Plant & Machinery (o1 cost) 58,000 64,000
Cenerl Reserve HHEE L fnvestmeni 1200 Eoo
Prodit & Loss AJc Da00 13600 Siock 26000 20,0
TV Dhebmimire 10,01 = Saumidry debiors 13,000 1704040
Sundry creditors 26000 22000 Hank L0006  5.200
Proposed Dividend 4,000 4 &0
Prow, for Depraciation
on Plant & Machinery 29200 30,500
| 29500 1 37 2K | 24,800 1537200

Chher imifvrmation:

(1) A Plant costing Rs. 4,000 (Written down value— Rs. 1.400) was sold for
Rs. 600,

(i) An interim dividend of Rs. 2,000 was paid in addition to the proposed
dividend.

8. What do you mean by Financial Statement? Discuss bricfly different methods LB b
available for financial statement analysis.

s Bl ws & Ay i R Rowew e Symel serwct
W]

9. A manufacturing company has supplied you the following information in KES:
respect of one of its products:
Rs.
Towl Fixed Cost 18,000
Total Varable Cost 30,(0H)
Total Sales LR
L'mits Sold 20,000
Find out the following:
(1} Contribution per umt

s
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{il} Break-cven point
(iii) Margin of safety
(iv) Profit

10. A company incurs the following expenses (o produce 1000 units of anticle:
Rs.
Direct Materials 30,0041
Direct Labour 15,000
Power (20% fixed) 10,004
Repair and maintenance | 15% fixed) 8,000
Depreciation (40% varable) fy, (00}

iv) Volume of sales to cam a profil of Rs, 24,000,

Administrative expenses (100% fived) 12,000

Prepare a Flexible Budget showing individual expenses of production level ar
1,500 units and 2,000 units.

GROUP-B
fasm.w

Answer any fwe questions from the following:
Trefénfae cr-coma g% =R T et

{a) What are the objectives of Budgetary control?

et e Bregels B & s
(b) Distinguish between Marginal Costing and Absorption Costing.
‘Marginal Costing” <3t Absorption Costing” <% Wta) s owwl|

{c) Detine and explain Debtors Tumover Ratio.

12

Debtors Turnover Ratio -% FRUER W€ @ 3 =0
(d) What are the tools and techniques of Management Accounting?
“fEsEs ERmTs FauE Temm o serfmel® s B g

GROUP-C
R

Answer any five questions from the following;

s o ofsfh aee e was

{a) What is Working Capital?

Jlly

st SerE o 9

3x3

15

5%2=10

a=5=10

Turm Creer
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by What is Acid-test ratio?
Acid-test ratio 7 ¢
{c) What do vou mean by Cash Budger?
i et e F o ¢
(d) Diistinguish between Budgeting and Forecasting.
eefls o =pEaE-ag S0 o o)
{e) Distinguish between Contribution and Profit.
A e T W o e
() What do you mean by “Net Worth™?
“Net Worth™ T90% 7 cman ¢ {
(g) What is indirect material? L
=ETS ST W W
{h) What is indicated by Angle of Incidence? |
WEE (IR TR B G Em g

L1 R b
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COOCH BEHAR PANCHANAN BARMA UNIVERSITY
B.Com. General Part-111 Examinations, 2018

DIRECT AND INDIRECT TAXES IN INDIA-GENERAL

G2
UNDER-{1+1+1) SYSTEM
Time Alloted: 3 Hours Full Marks: 100

The figures in the margin indicate full marks.
Condidates are required o give their anowers in their own wordy ax far as proacticable.

Direct Tax
Marks: 6i

GROUP-A
fem-=

Answer any fwe gquestions from the following 1822 = 3f
Frrsffirs e 0 aeem Bam me

1. From the information given below, compute the Taxable Income of Mr. A. I8
Roy for the Assessment Year 2007-18:

(i)  Basic Salary — T 50,000 p.m.

(i) D.A. @ T 8,000 p.m. (out of which ¥ 6,000 p.m. enters into pay for
service benefit).

{iliy Conveyance allowance— T 26,000 (actual expenses T 27.000),
{iv) Children’s education allowance—¥ 1,200 p.m. for his one child.
{v} Employer's contribution ta RPF- 13% on basic pay.

(vi) Interest credited o RPF @ 14% s T 16,800,

(vii) Medical Allowance— T 800 p.m. (sctual expenses T 4,800),
(viii) Commission on tumover achieved @ 1% of € 5,00,000,

(ix} His employer provided him a reni-free furnished accommodation at
Siliguri with furniture costing ¥ 160,000,

{x} He paid T 2,400 as professional wax, ¥ 30,000 as life insurance
premium on a policy of ¥ 4,00,000 and T 16,700 medical insurance
premium by chaque.

1120 | Vo Civey
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. Following are the particulars of two house properties owned by Mr. X,

Particulars House-1 House-11
(T) (X}

Municipal value 96,000 90,000
Fair Rent B8, 000 06,000
Standard Rem Q0,000 1,08, 000
Actual Rent Received 9000 pm. Self-occupied
WVacant period 3 months -
Municipal Taxes due 9,600 9,000
Municipal Taxes paid 7,600 NIL
Interest on borrowed money 10,000 42,000

Loan taken to construct House-11 is still outstanding. Loan was taken in
2014, Find out the income from house property of Mr. X for the Assessment

wvear 201 7-18.
3 Mr. Gupta submits the following Profit & Loss Afe relating o his business
for the year ended 3 15t March 2017.
Particulars ﬁm:ult ; Particulars | h.m;nnt |
1
Ta Opening Stock | 73,800 | By Sales | 9,25,100 |
" Purchases | 5,50,600 7 Closing stock | £5,500 |
" Wages | B7.500 | " Discount 5,700
' Salaries | 65,700 | ' Dividend 7.800
" Bad Debt 7,300
** Provision for Bad Debt 8,200
" Depreciation 16,204
** General Expenses 24,800
" Rent 20,8040
" Income Tax 13,700
** Interest on capital 2,500
TLeplEaporses | 700 )
" Advertisement 14,200 |
"Net Profit 131,500
1024100 16.24,100

Compute taxable income from business of Mr, Gupia for the Assessment

year 2017-18 after considering the following points:
(1) Closing Stock is consistently under-valued by 10% below cost.

{ii) Wages inciude T 5500 being the amount paid to a laboor for

installation of a new machinery acquired during the vear,
{iii} Salaries inchude T 3,600 being amount paid (o proprictor.
{iv) Depreciation as per IT Rules amounting to T 17,200

{¥) Legal expenses include T 3,500 paid 10 a lawyer for conducting an

income tax appeal,

3120

18
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4. [Befine capital assets. [hstinguish between “shon-term capital assets” and 14748
‘long-term capital assets” as defined in the 1T Act. State five major
exemptions available in respect of long-term capital gain.

R S e o we ) SCE e wwcandl youd e wm
o] T S S W e S weerh wiom o e
#Is1 wyrma Toes A

GROUP-B
s

%, Answer any three questions from the following: 4=3=12

el c-cEt o eirws T wat

(a) Write a nile on “Specilied emploves
*Specified employee’-&% Bom T o)

{b) Distinguish between “Tax Evasion” and ‘Tax Avoidance’,
T2 W 6 =R STIAR W0n witde B o

(e} Mr. Peter, a foreigner, came to India from Poland for the first time in April
2010, He stayed here continuously for 3 years and went to France on 1st
Apnil, 2013, He, however, returmned to India on Ist July, 2013 and went 1o

Poland on 1st December. 2014, He again came back to India on 25th
January, 2017 on a service in India.

Determine his residential statas {oc the ALY, 200 7-2018.

{d) The following are the particulars of incomes and losses of an individual Mr.
X under different heads of incomie. Set-ofT losses in the ALY, 201 7-2018 and
find aut the net income:

Particulars Amount
4
Income froam House Proporty A 100, (K
Loss from House Property B (= 16,000
Income from intercst on securities 40,000
L.oss from a eyele business () 40,000
Profit from speculation business 440,001
Loss from short-term capital assets  (—) 12,000
Long-term capital loss {=1 30,000
lLong-term capital gain 42 000

(e} Who are included as “person® U/ 203 1) of the Income Tax Act 1961,
243 | ) R WA S S el i wE vl

(f) What do vou mean by Agricultural Income?
= oW s ErE

3120 Tuemn Oy
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GROUP-C
Trw.m

. Answer any six questions from the following:
rsieiene sprel (i LRI B0 2T Bgn e

{a) What 15 partly agricultural income?
W e i TR = A e
by Who is an assessee in defauh?
crenil il e A ¢
(e} Can speculation loss be set off against any sort of gain”
W ST i GETE) e w0 w0 HayEoy ¢
(d}) What is PAN?
PAN # ¢
ie) What 1s Previous Year?
oSl e = A
(fy s llegal Income Taxable?
S = 7 ey o
(g} Is house rent allowance taxable?
EETEl Sl 7 wEE o
(h) WName four different kinds of Provident Fund.
BT SRR T T e
(¥ Are daily allowances of MP and M1 A taxable?
MP 93 MLA-o e o 6 s p

Indirect Tax
Marks: 40

GROUP-A
festt.=

Answer any fwe guestions from the following
e sraf oo oromon 58 w0 Bgr we

7. Which dealer should be registersd under the WBVAT? What are the
provisions regarding fumishing return by 4 registered dealer?

WBYAT WiE w2 e Fadies o0s it » Fedigrs 59 Rewum
wiisicers Ffeaf® adn S

3120

2xp= |2

12x2 =24

4+8
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8. When is sale or purchase of goods said to take place in the course of
interstale trade or commerce? What are the featires of interstate sale?

e @R ruFer wmone =-Ren am o = o0 wEcEE Foom
taprEret® o

9. What are different types of Excise Duty imposed on Excisable Goods?
~[iscuss.
Tafen erem warew a3

0. Dhscuss the import procedures followed by the ‘person-in-charge’ of
conveyance and the importer under the Customs Act,

Customs Act-£2 SHt= Wil @ Menrs TEm vivesis wiEaiies sy
TR R 7 SRS S ST oreiH e s )

GROUP-B
forpony

LI Answer any fwe questions from the following:

e c-cenn wiF o B was

(a) Define Appropriste state.
Approprigie style-O7 FreE] fe)

(h) Write a short note on CETA,
CETA- R B oo

(¢} Which items are included in Capital Goods under WBVAT?
WBVAT SaaIa s 59 ¥0s 9 ¢

(d} Define the term ‘goods” sccording to the Customs Act.
Customs Act AL *{[¥R 7] W)

GROUP-C
s

12, Answer any fouwr questions from the folkowing:
TrfEiae clco ol sioes Bem wre:

(a) What is TIN?
TIN f& 3

12 5

1

452 =

Tum Cwer

"

2




B.Com./Part-111/Gen/3G2201E

(b) What is CVD?
CVD & ¢

() What is PLAY
PLA fi g

(d}y What is penultimate sale?
Penultimate sale ¥ 307 ¢

(&) Who is a casual dealer under WBVAT?
WBVAT %= Casual dealer 910% 905 ¢
(f} What are the objectives of Customs Act?
Customs Act-9% Brene@E F &y
(£} What penalty is impoesed for non-registration under Central Excise Duty?
CTR S WE SR WA W R e A 6 §
(h) Who collect and retain CST?
(T F = O T I 6 A0 AN0E i ¢
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COOCH BEHAR I’ANEITMNAN BARMA UNIVERSITY
B.Com. General Part-11l Examinations, 2018

AUDITING-GENERAL
3G3

UnnER-{ 1+1+1) SYSTEM
Time Allotted: 3 Hours Full Marks: 100

The figures in the margin indicoate il marks.
Candidaies are vequired to give their arnswers in Hheir own words ax far as practicable.

GROUP-A
frem=
Answer any three guestions from the following 203 = 60
fratefe cnosa fe=lB e B we
1. (a) What is continuous sudit? S5+54+10
e fadre o 9 ¢

{b) To which crganisation is it specifically suitable?
s i R s o e sy
(c) Explain its advantages and disadvantages.
B wiE e e wEmn ¥

2. (a) “Vouching 15 an essence of auditing”. — Explain this statement. 10+{2+E)
“Nouching is an exsence of auditing™ — <140 =)
(b (i) What is test checking?
g b S0 5T
(i1) Driscuss its advantages and limitations.
Bata i wem aaraR S T

3. (@) What is investigation? 246412
L [ ]
(b} Distinguish between investigation and suditing.
wwe g Wae won ok e =

3121 Tarm Ovier
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{¢) You have been appointed as an investigator by your client. who intends to
purchase an existing business. How would you proceed?

ol em wveal Fys T, o SR WA 430 Tl e B R
el | g e o wEE g

4. {a) Explain the various qualities required in a successtul auditor. 1100
wpma o i il eonesy eaRSeln wrsb S
{b) What are the powers enjoyed by a company auditor?
cwers o e @ waraE Wl e S0 ¢

5. (a) What is auditing? 2+10+543

ferstm =0 = ¢

{b} Mention the advantages and limitations of nudit
flrem = o el Srey =)

{c) Dhistinguish between auditing and accountancy,
e o oy wom wnda ety )

id} Distinguish between fraud and error.
TG @ SR T oI oA

6. (a) What do you mean by depreciation” 4+6+10
wishe wre B cun ¢
{k} Briefly explain the various methods of charging depreciation,
wlife fimn Rifbn sefbel® e s
{c) Explain the duties of an auditor with regard to depreciation.
wafste Tt e flirres edef o w0

GROUP-B
et

T Answer any four questions from the following: S=4=20
Flare G- wale sioes Be et

{a) What is Audit Report?
foripesy efEraes =10 a0 ¢

(b} Write a short note on Window dressing.
Bl et Window dressing |

f¢} What do you mean by intermal control?
ereadle foae e F caican ¢

31z




B.Com/Part-111/Gen (3G32018

{d) What is meant by teeming and lading?
Teeming and lading %=1t & v ¢
te) Distinguish between verification and valaation,
iy TEEE O ST W S B
(1) Distinguish between *social audit’ and *environmental audit’,
wrafEs Falvel e o et wog opdes S a0
(g} What is vouching?
Vouching 0¥ 904 ¢
i) Define internal aoudit,
wreradn e e e

GROUP-C
fasin- =t

8. Answer any fen questions from the following: 2=10=20
Frlefire co-com woufB 2ines By wa:

{a) What are the Secondary objectives of an audn?
a=f e Secondary Bowraln fa fe e

(b} What is compensating error?
s o g

(c} When is tax andit compulsory ?
e e e Imgerese ¢

{d) What is periodical audit?
sr s i = o= o

{e) What is meant by ‘Contingent Liabilities’?
T 1% e i g

(N What do yvou mean by *Misfeasance"?
wTrEs 29E & e ¢

{g) What do you mean by unclaimed dividend?
Unclaimed dividend 7#08 1 e ¢

{h) Define Audit in Depth,
*Audit in Depth’ -3 e #5)

1121 3 Tum Cwer




